PROFESSIONAL EXAMINATION BOARD

Police Constable Recruitment Test - 2016
7th August 2016, 03:00 PM

Topic:- General and Logical Knowledge
1)

Question Stimulus :-
In the following diagram. / 9 snefa &

« Circle S stands for households having a scooter;/ 39 S 3+ URARI &I g=0iar §, foFd U™
G gl

e Circle T stands for households having a TV set; / 91 T 34 Wﬁaﬁaﬁm%, o U
At 21

* Circle W stands for households having a washing machine; / X W 349 ufRar & gertar %,
o urT Tl w=i 21

« Circle C stands for households having a car. / 5 C 39 URaRI &I g=iar g, S T R B
Note: The different numbers indicates the non-over lapping regions. For example, S

represents unions of regions 1,11,12,8,9,10 and 6. / &9 ¢: W <: 3AT-3TNT HBATY A= faaaTdt
&l @1 gRra o=t 81 Seevu & e, s 831 1,11,12,8,9,10 3R 6 & WY HY gMiar gl

Households having car but not washing machine are indicated by / 3 gfvarR o e o R
T W ariin 7=i= =8 € S9! $ I=far T §

e Union of region 6,10 and 4 / &3¥Y 6,10 30T 4
e Region 3/ 83‘7[ 3
® Region 13 / a7 13

* None of these / FIS gl
2)



Correct Answer :-Union of region 6,10 and 4 / &394 6,10 3R 4

2)
Question Stimulus :-

1. A,B,C,D,E,F and G are sitting on a wall and all of them are facing east / A,B,C,D,E,F MG

U& AR W d B R 49 Y g s ¢

2. C is on the immediate right of D / D & fd@®d a1¢ gIiR- AR C &

3. B is at an extreme end and has E as his neighbour / B fSagd &R # 8 3R E 3% Ta § @
4.Gis between Eand F / ERFHF I A G

5. D is sitting third from the south end / S0 3R I TR VM W D 9318

Which of the following pairs of people are sitting at the extreme ends? / FfFai & Fgdd
P § ST Napd Rl R W 33 82

e AB

e AE

e CB

* FB
Correct Answer :-AB
3)

Question Stimulus :-

Which date will fall 30 days after 28t March? / 28 4T9 ¥ 30 el & ugTa Fi9 Il feqie S
o 27th April /27 3w
o 26 April /26 30
e 28th April /28 3lid
o 29th April /29 30
Correct Answer :-27th April /27 3@
4)
Question Stimulus :-

@)



In the following question, there is certain relationship between the first two words. Choose
the fourth word from the following options which has a similar kind of relation with the

third word. / 99 U4 &, Ugd 3 Wl & o9 [P UPR &1 o1 Way g] Y fAeet & I @ W g
RraeT TR 3= & 1Y SO UHR &7 S99 B

POET : POEM : : COMPOSER : ? / ®fd : &fddr :: WildeR : ?
e MUSIC/ Siitd
e SONG / Tiid

e DANCE / 9d

e NONE OF THESE / 98 ¥ &[5 -8l

Correct Answer :-MUSIC/ Iifid

5)
Question Stimulus :-

The area of which Union Territory is spread over Kerala, Tamil Nadu and Andhra Pradesh? / g o= =g

T BT & BT, diel AATg SR riemewr # Her gam 22
® Lakshadweep / LG
¢ Andaman and Nicobar Islands / 3/ 3R fA@ER SUGIy

¢ Puducherry/ Egﬁ'\&

® Dadra and Nagar Haveli / qIqX Gﬁ? TR E'a'iﬂ
Correct Answer :-Puducherry / Ig@R1
6)

Question Stimulus :-

What is the day on 9th June 2001? / 9 S 2001 Hi HI IT fe 82
e Monday / THAR
e Saturday / farR

* Wednesday / gYdR

® Thursday / ?dRR

Correct Answer :-Saturday / f-dR

(4)



7)
Question Stimulus :-

Select the statement that is the negation of the statement "All mountain towns are

quiet.” / 3T BYT Bl T4 Sl 39 HYF FT Ufaare g "I et =ew wid g

* No mountain towns are quiet. /Hﬂiwﬁwmqﬁ%l

e Some mountain towns aren't quiet. / $ UgTS! e Aid 7l 81

¢ Some mountain towns are quiet. /WWWW%I

e All quiet towns are mountain towns. /mﬂmiawus@rw%'l
Correct Answer :-Some mountain towns aren't quiet. / $S UgTS! &R XMd 781 &
8)

Question Stimulus :-

Select the option, which is the logical equivalent of the statement given below: / dg fowe

g iah e IR e s F au= 8 :
If I wear sari, then I go out for a party. / uﬁﬁm@m?ﬁé,aﬁﬁmﬁ%ﬁﬁwmﬁl

e If I don’twear a sari, then I don’t go out for a party / af¢ & TSI 781 Ug-Iet 5, af # Ul &
o) STER AT eIt §

e If I go out for a party, I wear a sari / Tfe # Uit & D a1 &l §, O & TS Ugdl §

e If I go out for a party, then I don’t wear a sari / af¢ & Urdf & ford arex ol g, at & 9t =1gY
UEAN |

e If I dont go out for a party, then I don’t wear a sari/f& & urél & for) T8¢ 761 &Il G,
A & AT} 61 UgTdl §

Correct Ansyver -If I don't go out for a party, then I don’t wear a sari /ﬁﬁqﬁ%ﬁﬁ
qTER 81 oITdl &, o & Arel Tl uget §

9)

Question Stimulus :-

In a row of boys. A is fifteenth from the left and B is fourth from the right. There are three
boys between A and B. C is just left of A. What is C's position from the right? / mﬁw
UfRT # A 91 & Uggd WM WX ¢ 3K B gt ¥ 91% WM W21 A 3R B & g &9 a=d &1 A & e 9
TR C §1 gifg | C T FIT RIF 82

Y 9th

®)



e 10th
o 1oth
o 13th

Correct Answer :-9th

10)

Question Stimulus :-

The Meghadhoot garden is located at . ﬁ'ﬂ?@' I T @ %

® Indore/ sTtaT

e Ujjain / 356

¢ Mandu / HIUg

e Gwalior / TTfOAR
Correct Answer :-Indore / SGIX
11)

Question Stimulus :-

The First Amendment to the Constitution of India made changes in ./ YR & Ifqem= &1 Ugdl RIDE L

¥ ufead Tl
® Fundamental Rights / Hifere iR
® Directive Principles of State policy / ITsd & Hifa ﬁl%f!lﬁ? ﬁ’l@'l?ﬁ
® Election of President / Tl'gqﬁl' & qgA1d

® Election of Prime Minister / FUT-THAT T gqrd
Correct Answer :-Fundamental Rights / Hifere St
12)

Question Stimulus :-

The national song was composed by / ITY a 37@? GIRT =T 4T YT:

® Bankim Chandra Chatterjee / STPHTS TSIl

® Mohammed Igbal / 'Fﬁ?m—d EE I
(6)



® Jai Shankar Prasad / ST X®: UG
® Rabindranath Tagore / WUW
Correct Answer :-Bankim Chandra Chatterjee / STHHTS Tcsif
13)
Question Stimulus :-
Which of the following is a NOT leap year? / ﬁaﬁﬁﬁ?wiﬂuaﬁ?ﬁﬁ%?
® 1976
® 1984
e 1934
® 1948
Correct Answer :-1934
14)

Question Stimulus :-

Find the word that represents the category of the following three words. / dg§ Req JId PIford
i e i <regt Ft Ao 31 g=ifar @

Honesty, Credibility, Reliability / $AMeR, w1, fyaaar
® Quality / TUT
° Dependability/ﬁﬁh?ﬂ
L Character/ﬂﬁ_?f

e Nicety / m

Correct Answer :-Quality / 0T

15)
Question Stimulus :-

The jumbled letters of words are given below. Each letter has been nhumbered. Choose the
option which gives the correct order of the letters as indicated by the numbers to form

meaningful word. / X< & TTRYT &R 1 3 T §| AP SR &I Gemfdpd foar T 8] 98
faeer g i afe g B w1 & o Tt & ®u § sieRY &1 T8l 9 3T 7]

LAEMVR

(7)



123456
e 1,2,6,4,3,5
* 4,2,6,53,1
e 536,421
* 6,3,1,4,2,5
Correct Answer :-4,2,6,5,3,1

16)
Question Stimulus :-

Who among these Prime Ministers was not born in Allahabad? / - qﬁﬂ?ﬁ'ﬁﬁ ﬁ' '\ﬁ' g s/ Sdleldlq ﬁ
Tl g3 UT?

® Jawaharlal Nehru/ mﬁ??g

®* Rajiv Gandhi / NEICKIC]

e V.P.Singh/dl. W. &g

® Indira Gandhi / SfeT et
Correct Answer :-Rajiv Gandhi / 3siig Tieh
17)

Question Stimulus :-

The day-to-day administration of a Union Territory in India is looked after by a- / HIRd ¥ FuRmiad Tl\_rl:fﬁ ¥

feq-ufafe udemt &t T@uUTe 37% gIRT B Sl 8-
® Council of Ministers / Hf qﬁ'ﬁﬁ.{
® Lt. Governor / 3U-IToUTe

®  Governor / IMYUTed

® The President / Tl'gqﬁf

Correct Answer :-Lt. Governor / SU-=XTsIUTA

18)

Question Stimulus :-

(8)



In the following question, some group of letters is given, all of which, except one, .
share a common similarity while one is different. Choose the odd one out. / fraay ﬁ,

%W%wﬁﬁﬂﬁﬁﬁmﬁ,mwaﬁ@m,wﬁmwma foug ot &1
|

e ABD
e FGI
e LMO
e STU
Correct Answer :-STU

19)
Question Stimulus :-

On which river is the Gandhi Sagar dam built? / ¥ <! &R Wi IR Fiy g9 14T 82
¢ Chambal / ddd
e Narmada / qHar
e Mahanadi / HEHal
® Tawa / ddIl
Correct Answer :-Chambal / Jdd
20)

Question Stimulus :-

The highest award for services to the development of cinema is named after ALELIEATEInED

S} P T Faivd TP R FAH R
® Meena Kumari / W1 m
® Raj Kapoor /3T dYT
* Dada Saheb Phalke / ST HTgd WIcdh
® Manoj Kumar / ] PHR

Correct Answer :-Dada Saheb Phalke / GTST 9Ted BT

21)

©)



Question Stimulus :-

Find the odd one / fqTq &1 Tl?ﬂ'lﬁﬂ'{
® Charsath Yogini / TR¥Y CIEE]
® Matangeshwar / ATAIRGR
® Lalgun Mahadev / AT HgIed
® Rana Pratap / IT0IT UdTY

Correct Answer :=Rana Pratap / XTUIT UdTq

22)
Question Stimulus :-

In 2003, METSAT, or India’s meteorological series of satellites, was renamed after whom? /2003 fr', ﬁﬁ?, q71

YR HH U S’adT, fohaes v W 82
Rakesh Sharma / TP THT

Kalpana Chawla / S ¢AT dTddl

Edmund Hillary / TSHS feart

Arundhati Roy / 3% ULikip]
Correct Answer :-Kalpana Chawla / U dTdell
23)

Question Stimulus :-

The tallest minaret in India is / HIRd ¥ g9 SO F9R %:
e Fateh Burj / Wdg goi
® Chand Minar / T:ﬁ?{ R
® Qutub Minar / $dd R
® Char Minar / IR TR

Correct Answer :-Qutub Minar / $gd HHFR

24)
Question Stimulus :-

(10)



Who served as the Chairman of the Rajya Sabha for two terms? / fPam ISTHT IHY F FUH & IR FA
foar ur?

* Dr. S. Radhakrishnan / ST. T9. RTUTP T

e Jawaharlal Nehru / STaTeR@ATd 8%

® Vallabhbhai Patel / TTIH HTS Ued

® Dr. B.R. Ambedkar / 1. §1.3[R. 3FdS®HT
Correct Answer :-Dr. S. Radhakrishnan / 81. TH. JTUTHWE
25)

Question Stimulus :-

Which of these states does not have a single UNESCO World Heritage site? / 91 T4l H A fpa =g o Uhd

TAwp! fay eRIER Ra 51 82
® Maharashtra/ 'FIFRTg

e Uttar Pradeshlwm

* Bihar /f98R

® Nagaland / BINIGE]
Correct Answer :-Nagaland / RIS
26)

Question Stimulus :-

Berry is the wife of Arnold. Cathy is the niece of Berry. Depp is Berry's brother. How is Depp related to Arnold? / a'\Pf

3Tes ®1 Uelt 71 W 8 F1 wefioh 81 U &1 TS 1 S 3iies & FA Wala 72
o Sister / ST
* Mother / HTdT
¢ Daughter / 9¢t
* Daughter-in-law / 9§
Correct Answer :-Daughter / §¢

27)

Question Stimulus :-
(11)



Following are the three views of a cube. Which of the following options is opposite to the face containing C? / IBCRE

¥ ez ) P d & o A Row ¢ vas & RAuda &2

D) &9 &

Correct Answer :-F

28)
Question Stimulus :-

Whose birthday on November 19 is observed as National Integration Day in India? / Td+X 19 P foraer

Sfead YR H AP FATHE (o & U H o STl o7
* Jawaharlal Nehru / STATgRdTd 8¢
® TIndira Gandhi / STeRT e
® Mahatma Gandhi / HelHI Tl'\f‘iﬁ
® S. Radhakrishnan / . ITYTHWTT

Correct Answer :-Indira Gandhi / SfeRT TR

29)
Question Stimulus :-

Select the option, which is the logical equivalent of the statement given below: / dg§ oo
gRSidr sl IR RT s FTu= ¢ :

If Ram plays cricket, then the team will win. / gfe 3w fhde '@ﬂ?ﬂ%’, I &9 siati

e If Ram doesn’t play cricket, then the team will not win. / af¢ IW fpde 98 @adar g, @ H
&1 Sl

* The team won. Ram played the cricket. / S9 Siid 5 | I A fpdre @ar 41|

(12)



® If the team lost, then Ram didn’t play the cricket. /qﬁ?:ﬁ'qsﬁﬂ's;, CIRICERE T T RG]
UT|

e If Ram doesn’t play cricket, then the team will win. /Hﬁmﬁﬁﬁ'?ﬁ@ma adm
St

Correct Answer :-If the team lost, then Ram didn’t play the cricket. / af¢ T R 78, G IW A
fohore <181 @@ o

30)
Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / agﬁaa—«crqﬁq i ﬁT{ a HYAN Tq
frepuf & IR & 98 B

Statements: / YH:
All cameras are tools / I $HRT SUHI &1

All tools are garments / 9 USRI A Tl

Conclusions: / fAsmd:
I. All cameras are garments / I IR T %'l

II1. All garments are cameras / It 9 AT %'l

® Only conclusion | follows / Had sy 1 Apadr %

® Only conclusion Il follows / Had faeed 1 Headr %

® Both conclusion | and Il follows /Ea:ﬁ A 1 Gﬁ? 11 Aopad %

* None of the conclusion I or II follows / =Y I T II § § ®1g g Fpaar @
Correct Answer :-Only conclusion | follows / %ad farspy I fAPpadr &

31)
Question Stimulus :-

The “Chandan Katona” is located at Orchha, It is a ./ e HAHAT ARSI H R %, Yg Uh
o

* Cave built by the Chynadella rulers / dcd XNIH! gRT AT w1

® Temple of lord Shiva / Y4 R & wfez

(13)



® Fountain which supplies water to the royal residence / el e &t ure &t GiTg:ﬁf Coe %ﬁﬂ[ BTded
® A flower garden that supplies flower to the rulers / RITE®I %mw efw \’rITq:ﬁf b ol CHIE]]

Correct Answer :-Fountain which supplies water to the royal residence / RTal f-1aT9 &t Ut &I GITgfcf
H & foIT wrdeq

32)
Question Stimulus :-

Which state in India has the maximum number of districts? / HIRd § fop 30 & HaH sarer fordt 82
* Tamil Nadu / AFHETS
® Uttar Pradesh / 3<I¥ 'FI%S!T
® Goa/ Mar
® Manipur / 'FlﬁTﬂ?'

Correct Answer :-Uttar Pradesh / 3% USRI

33)
Question Stimulus :-

If its cookie or coffee then you get mileage. You don’t get mileage then neither was it

a cookie nor it was coffee. / Wﬂgﬁwmﬁﬁ%ﬁmmﬁm%l a{rqﬁtns—a\—:r
15t firerar & @Y a5 7 @t favge a1 78 Hiw! G

* True / gl

e False / Tdd

e Maybe / Bl godl %

e Irrelevant / ST
Correct Answer :-True / Hg!
34)

Question Stimulus :-

The only Eco tourism site in Bhopal is / uiurer # UhHTA riy-udfeq =& %
* Kolar dam / PIAR ¢

® Rajghat dam / ITSTdIC €Y

(14)



* Kerwa dam / B4l gi¢

® Halahi dam / BETS! §IY

Correct Answer :-Kerwa dam / $dl gi¢

35)
Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / dg fope ﬂﬁ'l:{
st T T Byl wd Fremel & R & 9E R

Statements: / YH:

All gums are cups. / I 7gs HY &l

Some powders are gums. / $9 URKSS AYS &l
Conclusions: / femd:

I. All powders are cups. / T UreSsT $U g1

II. Some cups are powder. / $9 PU HBG?%'I
® Only conclusion I follows / Had ey 1 Heaan %
® Only conclusion Il follows / Had e 1| Meadr %
e Both conclusion | and Il follows /ﬁT-ﬁ: ey 1 Gﬁ? 1I fFread %’

* None of the conclusion I or II follows / A=Y I G II § @ ®1 ) Fpaar g
Correct Answer :-Only conclusion Il follows / Pad et 1 freedr &

36)
Question Stimulus :-

A call centre operates between India, Japan and US. India is 12 hrs ahead of US, and 6 hrs
ahead of Japan, while Japan is 6hrs ahead of US. India works between 10 AM till 10 PM,
where as US works from 8 AM till 8 PM and Japan works from 9AM to 9PM. / HRd, SIlUME 3R
SAR®T & §IT TH Hia A Tadl &1 URA 12 e MRS I 3t 8, 3R 6 G WM A 3R 8, Safd S
6 Tc 3ARTT T M 81 YRT JIE 10 T9 A I 10 T AP S Bl § Saih AAABT ga§ 8 I I I 8
TS IP PTH T 8§ 3R SIUH a8 9 T I I 9 Tl 9% B HT 8

A conference is to be held between US and India. What should be the earliest possible time
when US can initiate the conference with India? / 3AR®T 3R YRA $ 9 TP HHA SARISIT BI
ST 36 1 Sieg | Sleg 98 YT THY B9 IT 8, 5T AADT URA & 1Y HIHH IR $ bl 82

® 8 AM US local time / J9E 8 T6l g T &1 VI IHY

(15)



® 9 AM US local time / & 9 I J TH ST AT G0
® 10 AM US local time / g8 10 §o1 g T BT RIT IHT
® 11 AM US local time / g8 11 §91 g T &1 I 0T

Correct Answer :-8 AM US local time / 9% 8 91 g TH &1 R 0

37)
Question Stimulus :-

Among the five villages, Madgaon is smaller than Rajgaon. Chadgaon is larger than
Sudgaon and Birgaon is larger than Rajgaon, but not as larger as Sudgaon. Which is the
largest village? /U TITal § | WeATg, SN A Biel 8 | SGd, Heid T T9T 8 3R 7T, I
TS 5, TR AGITa oI 99T 161 & | HaH TT 717q HI |1 3?2

e Madgaon /Ila'lﬁ'ﬁ'
¢ Rajgaon /ﬂFITﬁH
¢ Chadgaon /Wﬁ'cr
° Sudgaon/wﬁ'ﬁ
Correct Answer :-Chadgaon / ©ciid

38)

Question Stimulus :-
Madhubani style of paintings is famous in / nga'—ﬁ ﬁ?ﬂ' @t ﬁﬁWTE 'Clﬁ ';Iﬁl@ %
e Uttar Pradesh /TR USXT
® Madhya Pradhesh / )
® Punjab / USITd
e Bihar / fOER

Correct Answer :-Bihar / f98R

39)
Question Stimulus :-

A dispute relating to the election of the President of India shall be referred to - / HIXd & IPUfd HTaT A g%
et off frarg =1 Fet wefia foar smar 8 -

(16)



® Election Commission / g-Td ST

* Parliament / G

® Supreme Court / STdH AT

® Union Cabinet / 9 $fae
Correct Answer :=Supreme Court / S=dH A™ATAT
40)

Question Stimulus :-

Through which one of the following states does the Konkan railway not pass? / Frafafaa T o 9 foeam

PIHUT ¥eTd 81 oI 82
® Maharashtra / HgIRTY
® Goa/Tdl
 Karnataka / BIc®H
® Kerala/®%d

Correct Answer :-Kerala / $3cl

Topic:- Mental Ability and Mental Aptitude
1)

Question Stimulus :-

In a certain code language ‘Friends are good’ is written as ‘gont hop feka’
and 'Good bye doctor’is written as ' fip hop sek’. In that code language the
word for 'good’ is: / {3 WY ®Is UMW H, ‘Friends are good’ &1 ‘gont hop feka’ 3R ‘Good
bye doctor’ ®1 ' fip hop sek’ ¥ ferar g I ®is U # ‘good’ & T 71 &:

® sek

® hop

® feka

* fip
Correct Answer :-hop
2)

Question Stimulus :-

(17)



In the sequence shown below, which figure comes next? / 4R o™ T w9 # erTelt Gﬂfp‘ﬁl
DI Ot gRit?

o o e

i ii i iv = vi

<

O

D

s

Correct Answer :-

3)
Question Stimulus :-

The price of rice was Rs 16 per kg last year. It has gone up by 25%. The price now is: / CELELEIEGED]

P 16 Fo Ui fpar M| T8 25% HWR T@ T 71 39 P 7:
° 4
° 20
° 12
° 41
Correct Answer :-20
4)
Question Stimulus :-

(18)



The invoice humber of the supply of chemicals from ICI Ltd to Asian Paints Ltd is: / 31'!'&F 3t

TS fafies @ dox TR tew fifies a6 & WA & JURUI $t I 9S8 8¢
ICI:APL/566:b/77650438754870178:QII:South: 785400348701

Compare it with the following and identify which of them has exactly one mistake. / o & g LKL Cxd T

Tga™ & 39 A fPud 9 v el 2
® ICI:APL/566:d/77650438754870178:QII:Soath: 785400348701
e ICL:APL/566:b/77650438754870178:QII:South: 785400348701
 ICL:APL/566:b/77650438754870478:QII:South: 785400348701
® ICI:APL/566:b/77650438758470178: QII:South: 785400348701

Correct Answer :-1CI:APL/566:b/77650438754870478:QII:South: 785400348701

5)
Question Stimulus :-

Hema bought mangoes at the rate of Rs. 60 a dozen. She sold them at Rs. 60 for eight. What was her percentage of

profit? / BT 60 Fo & & U TP guil 3ATH Tlgdl g1 ST T 3113 3 3T 60 Fo ¥ 39 f3an I9d @y
&1 ufa=radr w42

® 50

® 25

® 25

°* 0
Correct Answer :-50
6)

Question Stimulus :-

0.73x0.73 -2x0.73 x 0.23 + 0.23 x0.23 =7
e 25
e 05
e 0.25

e 0.125

(19)



Correct Answer :-0.25

7)
Question Stimulus :-

Evaluate: / T&di®- ®<: 1014 x 986.
* 998904
* 999804
* 998814
e 998804
Correct Answer :-999804
8)
Question Stimulus :-

Complete the series choosing the missing number: / AW JWT TAHR ST BT T HIOT :

1,2,3,4,4,5,6,7,8,8,10,11,
* 9
° 11
* 13
° 12
Correct Answer :-12
9)

Question Stimulus :-

In the following qyestipn, one term in the number series is wrong. Find out the wrong
term. / 99 Uy A, 98I 4@ # TP US A §| TAd US ¥id BISA| 60,48,38,28,24,20,18

e 18
° 24
° 28

®* 60

(20)



Correct Answer :-28

10)

Question Stimulus :-

A pays 12% of his total income as towards income tax. His total income is Rs. 25000, deductions towards PF, housing
loan etc amount to Rs. 4,000 and spends Rs. 12000. He saves the rest. What percentage of his total income does he

save? / A U] T 3T BT 12% TP & &U § YA Hdl 8 SUB! $d 3 25000 TUT g, TUW, MarT
BT 3M1fe AR B} FEId 4000 FTUT T W 12000 FUQ| AfF Y 98 T9d BT 3| A M4 &7 fHa-1 ufoza a8
A BT 82

° 24%

® 25%

* 20%

* 30%
Correct Answer :-24%
11)

Question Stimulus :-

According to Lala Charanjit’s will, 45% of his assets would go to his widow, 35% to is daughter and the remaining to
his son. If the son’s share is Rs. 4 lacs, how much is his daughter’s share? / €Tl IR B EE3) * SR, e
TUfT BT 45% 33! fayar & forg, 35% ot & o Td Ay I9% d9¢ & e 8hm afe 9¢ & i d 4 9@
I 7, °f SAPT At BT 3= fber B2

® Rs.7lacs / 7 A

® Rs.9lacs / 9 Wl

® Rs. 7% lacs / 7> dE

® Rs.10lacs / 10 g
Correct Answer :-Rs. 7lacs / 7 @9
12)
Question Stimulus :-

P and Q can do a piece of work in 20 days. P alone can do 1/5th of the_work in12 days. In
how many days can Q alone do the work? / P 3R Q i<t &1 &Y 20 f&=f & -1 o= GHd & P
3FA HH BT 1/5 3T 12 A1 & o3 I&ar 8] Q 3pa &1l ! fbaq fa=f & 1 #% wvar 872

e 20 days / 20 fa=

(21)



® 24 days / 24

e 30 days / 30 fa

® 36 days / 36 =
Correct Answer :-30 days / 30 fa=
13)
Question Stimulus :-

65% of is 260. / BT 65% & 260
® 225
e 250
e 300
* 400

Correct Answer :-400

14)
Question Stimulus :-

Fill in the blank: 16% of a number is 288. That number would be ... % of 4800. / ¥ad RIF P HI: TP ST
BT 16% 288 8| I8 BT 4800 FT .....% BT

* 37%

* 60

® 75
Correct Answer :-37%
15)
Question Stimulus :-
Complete the series choosing the missing number: / AW I TIHI YGAT Bt [T BIfoT:
1,5,10,16,23,31, _
® 38

(22)



® 50

°* 39

® 40
Correct Answer :-40
16)

Question Stimulus :-

Simplify the ratio 24:16:56. / 24:16:56 3JUTd B! IA BIfol |
e 2:4:6
® 3:1:6
e 3:2:7
* 6:4:9
Correct Answer :-3:2:7
17)

Question Stimulus :-

If GOLD is coded as HPME, how is IRON coded? / af¢ GOLD ®! HPME & Sifed fhar &« €, df IRON

B HA Pifed foar S g2

* JKLM

* JSTU

® JSPO

* JTUV
Correct Answer :-JSPO
18)

Question Stimulus :-

In a certain code ' Hold the line’ is written as ' hode fen ge’ ; 'Pass the
message’ is written as ' fen mesta goka’ and 'Draw a line"' is written as
‘Hode waj diba’ . In that code the word for ‘hold’ is: / & @RI ®Is ¥, ' Hold the
line’ ®1 ' hode fen ge’ﬁ R % ; * Pass the message’?ﬁ ' fen mesta goka’ﬁ forar % 3T Draw
a line’ ¥ ‘Hode waj diba’ ¥ a1 8] S s H ‘hold’ & T s B:

(23)



® hode
® ge
® fen
® diba
Correct Answer :-ge

19)

Question Stimulus :-

In a certain code language ' King is brave’is written as ' ge dest axob’ and
Our brave soldiers’ is written as ' dest dosta cesk’ . In that code language the
word for ‘brave’is: / & @Y BIE HIWT H, * King is brave’ &1 ' ge dest axob’ 3R ' Our
brave soldiers’ &\ ' dest dosta cesk’ ¥ forar g I ®Is HIWT # ‘brave’ & T v 2

® dosta

® cesk

® dest

® axob
Correct Answer :-dest
20)
Question Stimulus :-

Binay can do a piece of work in 5 days and Farhan can do it in 4 days. How long will they take to do the

samework,iftheyworktogether?/ﬁﬁﬁwaﬂ'&ﬁ5ﬁﬁﬁwaﬂ'm%ﬁmmﬁq@4ﬁ?ﬁw
P JHdI § fg & Y B B9, @ W R S [ A A = frad1 aw7g Thm?

e 11/2days /112
® 22/9 days / 229 fa=
* 31/6 days / 3 1/6 f&a
* 53/8days / 53/8fF

Correct Answer :-22/9 days / 2 2/9 fé=

21)
Question Stimulus :-

(24)



Complete the series choosing the missing letter/s: / ﬁﬂ'l?[ &R gADY adr o1 A ?ﬁﬁrm{ il
qrr _pr_ppqq _pq_rr

® ppqrp

® pgprp

® qprpq

¢ qrprp
Correct Answer :-qprpq
22)

Question Stimulus :-

In the sequence shown below, which figure comes next? / A9 fRER T H9 # 3FTE! e fa
D4 Ot grit?

EERIE

i iii

Correct Answer :-
23)

(25)



Question Stimulus :-

The mirror images of four words are shown below. The spelling of one of the words is wrong. Which one? / IR BIC|

& guur gfafde fid fieme 1T 8] 379 A U g & 9ol T9d ¢ 98 P 82

A
ORI

B

W
Y\

Correct Answer :-

24)
Question Stimulus :-

If CLERK is coded as ENGTM, how is TABLE coded? / df¢ CLERK &I ENGTM ¥ $Ifga foar siar g, @t
TABLE $ &3 ®ifed far siar g2

® VCDNG
®* VDFOI
® VFSUW
* VGISU

Correct Answer :-VCDNG

25)
Question Stimulus :-

A man gains 10% by selling a computer for Rs. 14960. What is his gain if he had sold it at 15% profit? / T 3TeHt
TP FICT 14960 To T o HR 10% Jig HaT 82 e 3T A 15% &1H W 91 gidT af a8 fba-t gfS
HdI?

(26)



® 2040

* 1360

® 680

* 2720
Correct Answer :-2040
26)

Question Stimulus :-

Complete the series choosing the missing letter/s: / AT 3R TIHT 4T I T BT 1z _
YYY . _ XYYYY _ XYYY _

* Xxyzy

® Xxyzzy

® XYyXZy

* yxzyy
Correct Answer :-xyzzy
27)

Question Stimulus :-

Simplify the ratio 21:42:63. / 3IFIUTA 21:42:63 BT WA DIoW |
° 1:2:4
e 2:4:7
e 1:4:9
* 3:6:9
Correct Answer :-3:6:9

28)
Question Stimulus :-

[4-2a+5b-(a-b)]-[5a-(3a-(4a+b))] is equal to / [4-2a+5b-(a-b)]-[5a-(3a-(4a+b))] RN

(27)



4-9a+5b

5-9a+4b
e 0
None of these / 38 ¥ $Ig g1

Correct Answer :-4-9a+5b

29)
Question Stimulus :-
A farmer gets 12% profit by selling a cartload of rice for Rs. 9856. He incurs 12% loss he incurs by selling the
same quantity of wheat for the same amount. What is his total profit or loss? / Th fpam arqa & T BPSI
YR B fyhl 9856 TUA H TP 12% ATY U HRdT g1 g It TH HET A Tod W IIH 98
12% @ g1 Saal 8| STDT $o ATH YAl BT T 8?2

® 1.44% profit / 1.44% TMTYH

® 1.44% loss / 1.44% BT

® 2.88% profit / 2.88% TITYH

® No profit, no loss/ T TTH, AT GTﬁf
Correct Answer :-1.44% loss / 1.44% If=l
30)
Question Stimulus :-

Niranjan’s account number is 478008744705928 and netbanking password is PSR4635L.Check which of the
following is the same as these. / ARSI BT WIAT TWT 478008744705928 TS ACATHT URITS PSR4635L B 1 W1
&< fp e & 9 o9 3976 9uH 1

® 478008744705928, PSR4635L
® 4780087474705928, PRS4635L
® 478080744705928, PSR4653L
® 478007844705928, PSR6435L

Correct Answer :-478008744705928, PSR4635L

Topic:- Science and Simple Arithmetic
1)

(28)



Question Stimulus :-

Use the following information to answer the question/ ¥ & 3R &1 & forg A9 & 718 sHa™t
BT TN B

Ranking of 10 students in a class in 11th standard and 12th standard/ @& 11 \’rﬁ'{’q'i&ﬂ 12%
10 S Bt AforE

Rank in
Rank in 12th
11th standard /
Name / -9 standard / e 12 §
hem 11 o AT
T
Abhilash / YN |4 3
Bhuvan / Hd- 2 2
Chandra /9= |3 7
Devi / ¢dt i 8 |
Gowri / TIRI 6 6
Akhila / 8fRgd |10 110
Antara /8<RT |5 1 |
Sridevi / figat |8 4 |
Lewis / 39 19 19
Lokesh / Sl 7 5

How many students did not change in their rankings? / o ol o1 AmE :r(f[ aa?ﬁ %'?
o 2

e 3

(29)



® 6
Correct Answer :-4

2)
Question Stimulus :-

Mother cut a sheet of paper into 10 pieces. She then took one piece of it and cut it into 10
pieces. She then repeated this three more times. If so the total number of cut pieces is

equal to / Ul 3 SETS & Hie B 10 THSI A el e 379 | 3T TF el
forar wg 39 1O%Wﬁ§mlsﬁ3@ﬁ?ﬁqaweﬁvmlﬁwmﬁ@aﬂ%wgﬁ,aﬂwm
9 Bl

* 40

* 46

® 50

® 56
Correct Answer :-46
3)

Question Stimulus :-

The urigary opening at the end of muscular tube is called / Ui} Af®T & 3fd A T fox
HEaT

® Urethra /Wf

® Penis /QI'Q'FI'

° Ureter/'l{?lﬁl'%'ﬁ

® Anus /Tal
Correct Answer :-Urethra / AT
a)

Question Stimulus :-

The locus of a point, equidistant from 2 given point, is ./ ﬁ'Q' R 33[ ﬁgaﬁ T gHHE @ R = ﬁ'g" DI
faguy gl

(30)



® astraight line parallel to the line segment joining the 2 points. / | ﬁf&"&ﬁ Ca) \_rﬁ?;ﬁ aTel IERGS & JHIOR
Hteft Yar

® acircle in which the line segment joining the 2 points is the diameter. / 98 qd foraw & <t ﬁf&"&ﬁ Ca Fﬁ?,e[
16T YARAS 3 gd BT AN &

® the perpendicular bisectors of the line segment joining the 2 points. / 33[ ﬁﬁ."ﬁ-ﬁ Ca) \_rﬁ_sﬁ T YERAUS FT
GLSIERISED

« a straight line forming on angle 459 with the line segment joining

the 2 points. / & fag3fi @I Siieq a1d YERES & 1Y 450 BT BT 9
arat dieft Y@

Correct Answer :-the perpendicular bisectors of the line segment joining the 2 points. / E-'T ﬁfc{&ﬁ ol Gﬁ?,e[

e WARAUS HT (G HISTH

5)
Question Stimulus :-

The soil is turned and loosened which allows the roots to penetrate deep into the soil. Why should the roots penetrate
deeply into the soil? / J&T I Tae B I Slen fpaT SIrar g of fop STsi &f gar 3t Tews ¥ gaq &
Srgrfa 3l 81 STei &1 gar & Tewrs A Fl gIn e

® The loosened soil allows the roots to breathe easily. /?ﬂ?ﬂ Hal I GI% ST ¥ 919 & Tt %:l

® The loosened soil helps in the growth of earthworms and microbes. /?ﬂ?’ﬁ Hal ﬁq 3R ﬁ&ﬂ“ﬂﬁtﬁ &
faera § Tgraar sl 8l

® The top layer of the soil supports plant growth, as it is nutrient rich. / Hal I SR Wa gl Bt q% "
eIl $dl 8, Fifep sHH Uiue da oifte gid gl

® All of the above /m It |

Correct Answer :=All of the above / SURIad T4t |

6)

Question Stimulus :-

log -1 ; log -1
Evaluate / T H BRI :

(31)



°® 0
Correct Answer :-0
7)
Question Stimulus :-

2% of 25 is 25% of? / 25 BT 2%, [PIAPT 25% T :
e 200

® 25/100

® 0.02
Correct Answer :-2
8)
Question Stimulus :-

Photosynthesis will NOT occur in the absence of which of the following? / g ¥ O feaat ﬁqﬁlﬁf H gt
T=AYUT FI gishar gfed T8l grii?

e Guard cells / gR-BIRDI

® Chlorophyll / T-I'Ufﬂﬁ_d

® Vacuole / INEGEa

® Space between cells / il & f9 &1 wRIE

Correct Answer :=Chlorophyll / Uuigia

9)
Question Stimulus :-
CANCELLED

Find the curved surface area of the cylinder which has height 7 cm and radius of the base 2 cm. / 3 S BT I5 Ug

TP A FId DI st FaAS 7 A9 2 3R MR 1 B4 2 9 21
* 44 cm3/ 44 | 3

e 88cm3/ 88 T3

(32)



e 98 cm3/ 98 I 3

e 22.cm3/ 22 Gt 3
Correct Answer :-44 cm3 / 44 It 3
10)

Question Stimulus :-

A bus travels 54 km in 90 minutes. The speed of the bus is / Tdh §H 90 fire § 54 fpotfio BT g HaT %|
a9 Pt A 7

® 0.6m/s

® 10m/s

® 5.4m/s

® 3.6m/s
Correct Answer :-10m/s
11)

Question Stimulus :-

Dough made with maida, yeast, sugar and warm water rises or puffs up because / 'aET, E'FﬂT, b3 G'ﬁ'\’ i
T A AT TRT 3ATeT 33 WTdl & 91 Bd STl & Ffe

® Yeast multiply and produce alcohol / THIR Had_ wear % Gﬁ'\ft{ﬁﬁﬁﬁ U DT %
® Yeast multiply and produce acid / THIR Tad_ Far %’ 3T 3 I Pl %
® CO2 produced by yeast fill the dough / GHR §RT 394d CO2 3 H HR STt %

® Maida swells up when water is added /'qF'ﬁ B GIGRTS 'aET PSRSIGH %

Correct Answer :-CO2 produced by yeast fill the dough / GHR §RT 34T CO2 3Me H U STt %
12)

Question Stimulus :-

A hot water bath or massage can relieve muscle cramps. Give reason. / Y T U & W ar /e

iUl § Toe g wR bl g1 R il
® Heat makes the person more comfortable / Y ST & 3rfie ool CEIGI] %

® The balm used for massaging might have helped / arfer=T ¥ E?R'Ff ST fpar du HeTIdl dY Hhdl %
(33)



® The blood supply to the affected area is improved by massage or heat / HITSl T T @ gutfaa %"\‘:a' |
G MY P G 7

® The relief experienced is a false feeling / 3IRTH &I AJHJ UH frear Glﬂ'l;[ﬁf g

Correct Answer :-The blood supply to the affected area is improved by massage or heat / HHTS[ T i 9

THTad e # Yo oy &) guRd §

13)
Question Stimulus :-

If (a + b) = 2, (a - b) = 3, then find (a2 + b2). / TS (a + b) = 2, (a - b) = 3,9 (a2 + b?)

IEEaIY

* 13/2

* 26/2

* 26

° 12
Correct Answer :-13/2
14)

Question Stimulus :-

Directions for the following four questions: Study the graph below and answer the
questions. (Consider approximate values for answers) / 9 fRT 10 IR u4l & fore Rdw =
fou T 7w &7 g B MR U BT IW 1 SR P e srgEifa el R AR B

(34)



- —=—Gliis golng to school

—&—EBoys going to schao

Mumber of Students{iMillions)
38
Q

In which year highest number of boys attended school? / g ad & 9 oiftw as% foemeg # Sufya gq?
® 1987
® 1988
e 1985
® 1981
Correct Answer :-1985

15)
Question Stimulus :-

Common cold spreads fast when an infected person sneezes openly. What can be the reason? / dTHTI {WTH

Tepfird safad & o § Sl I dull A adr 81 BT T SR §) TPHdTl 82

® Droplets of saliva spreads around and reach other people / €IR Bl q\% IRI 3R Hadt % 3R 3= &
% Ugad! §

® Bacteria spreads around / \_rﬂaTUj IR 3R Berd %
® Fungus release spores / ddH EﬂWIT{IGﬁ | ﬁ'ﬁiﬁ Pl B

® Virus infected cells in the droplets reach another person and multiplies /Ej@’f | ﬁ'EITl'{[ LER RGNy
39 fHT TP UgaPR dgd! &

Correct Answer :-Virus infected cells in the droplets reach another person and multiplies / w | ﬁ'EITUJ

Terird PIRABT 3 Ffed 9% Ugads degdl &

16)

Question Stimulus :-

(35)



Use the following information to answer the question/ U4 & 3R ¢4 & faw 1 & 18 s=aRY
BT WART B

Ranking of 10 students in a class in 11th standard and 12th standard/ Ferm 11 GﬁTEF&H 12%
10 BT & Afor

Rank in
Rank in 12th
11th standard /
Name / 91 standard / /e 12 §
el 118 [y
T
Abhilash / 3fHAY |4 13
Bhuvan / Ya- 2 2
Chandra / d=<I 3 7
Devi / ¢dl 1 I8
Gowri / TIRI 16 6
Akhila / 3fRacT 10 10
Antara / 3T 5 1
Sridevi/ diedl [ 4
Lewis / d39 e 9 -
Lokesh / @Il 7 5

How many students have improved their rankings from 11" standard to 12" standard? / fraa ol A 11 Y DET 3

12 of wem & 3ra=t Aoft w1 guRT 32
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Correct Answer :-4

17)

Question Stimulus :-

Choose the CORRECT statement describing an electrical circuit with the switch in OFF position, from those
given below. / T faQ T quf & | W& T BT 799 B« 6l T fagaq ukuy & Raa d¢ /a1 &1 quiq
BT B

® (Circuit is complete / gy @RI 3-1 a1 %

® Circuit is closed / ufkuy §¢ 3.1' ™I %

® Circuit is open / gy g1 %

® Current flows through the circuit. / TNTY & ﬁgq?f YRT eIt ?
Correct Answer :-Circuit is open / gfgy gl %
18)
Question Stimulus :-

IfA:B=8:15,B:C=5:8andC:D=4:5,thenA:Disequalto:/“€lf3 A:B=8:15,
B:C=5:8Td C:D=4:5d9A:DSH» R ¢ :

* 8:10
e 15:5
e 4:15
e 2:7
Correct Answer -4 : 15

19)
Question Stimulus :-

Which of the following statements is false? / g ¥ 3 719 91 FYT 3N % ?

* Area of a semi-circle is double the area of a quadrant / 3f¢f gd T & ﬂﬂ'ﬂﬁT & &md

AT FIT ©

* Area of a semi-circle is one-half of the area of the circle / 3qd T &A%d gd & &ABA BT

ST §iaT §

(37)



® Area of a semi-circle is twice the area of the circle / Grif?j?r BT &ABA qd & gTBd B ﬁ'{FIT
glaT g

® Area of a quadrant is one-fourth the area of the circle / ?Iﬂ?-l'f-‘ZT DT TG qd & gTBd BT

TS YT BT 8

Correct Answer :-Area of a semi-circle is twice the area of the circle / arﬂqa CaRoEL T qd

¥ &% d BT SRAT &laT @

20)
Question Stimulus :-

According to W.H.O, the adolescent period is from the age group / W.H.O ® ﬂ_cﬂﬁﬁﬁ, fraR®Ten= erafy Y 3
A FE Bl &

® 9tol4years / 9 ¥ 14 T

® 10to19vyears / 10 T 19 99

e 12to 15years/ 129 159¥

® 14to20vyears / 14 20 99
Correct Answer :-10to 19 years / 10 ¥ 19 T
21)

Question Stimulus :-

Rabi Crops include / I @t e A e %
® Paddy & Cotton / HTF 3R HURI(FF)
® Maize &Soya bean / HEDT 3T FraTdT

® Wheat & Gram / ﬁﬁaﬁ?w

® Ground nut & Paddy / 'q:‘TQﬁﬂ 3R o=

Correct Answer :-Wheat & Gram / 1§ 3} T

22)
Question Stimulus :-
sin 18° ; sinn 18°

cos 72" cos 72

Evaluate / DT DT B

(38)



Correct Answer :-1

23)
Question Stimulus :-

If in a thermometer, the main divisions indicate 100 © and 102 ° respectively and there are
10 small divisions between them, each small division indicates / gfe Th ?FI‘T'FﬂE?ﬁ HHI:

100° Td 102° H& HRT $i $HId HAT § T4 39 GHI & 419 10 Bie-Bie YT §, TIPS BIeT HRT R
S g
* 0.5°C
* 0.2°C
* 0.1°C
* 0.3°C
Correct Answer :-0.2°C
24)
Question Stimulus :-

Which one of the following is wrongly matched? / ra o 3 foeaer fram aq %?
e Clay + organic matter= Paddy / &1 9a1 + 99 uerd = o=
® Clay + Loam= Lentils / ﬁrﬁqau gHCc = HY
* Sand + Loam= Cotton / S + GHC = &%
* Clay + Humus = Wheat / RI%t gar + t(Ror = g
Correct Answer :-Clay + Loam= Lentils / RI®l 41 + gAc = AR

25)

Question Stimulus :-
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The curved surface area and the volume of a cylinder are numerically same, only if the radius of the cylinder is
./ TP 3T & I U8 &6 d R M & TBITHS U JH 817, Fad af¢ aa 31 B
® Fr=4units / r=4 s

* r=2units / r =239

r= Tunits/r= TSHIS

r=25units/ r=2T5HS

Correct Answer :-r = 2 units / r = 2 SPTs

26)
Question Stimulus :-

Directions for the following four questions: Study the graph below and answer the
questions. (Consider approximate values for answers) / A1 3¢ 10 IR uef & foe Fdw =9
3T T WTE T SreEm B MR U BT IW 1 W P e srgHifa el W AR B

3
o
1

—#—G[Hs going to schook

—a—Boys going to schaol

Mumber of Stucents{iilions)
]
[o]

U T T T T ¥ v T L
21 82 83 34 85 86 87 88

year

In which year there was fall in admission of the girls? /%&r a9 # FIT:ﬁTq.T &1 Hdf § fRmae E'EE 4t?
® 1982
® 1987
® 1986
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® 1983
Correct Answer :-1983
27)

Question Stimulus :-

Which of the following devices is most suitable for detecting the flow of very low currents? /ﬁl'El' ﬁ I ﬁq Tt g%r

9gd ®H fIgad YRT & YA $I UdT B & g Faifes Suged 82
® Incandescent bulb / ATUEIT AR
® Magnetic needle / TFEHIT T3
e LED/TUASSI
* Voltmeter / JIeeHIEY

Correct Answer :-LED / Uds Sl

28)
Question Stimulus :-

The magnifying glass is a / Th 3mase ﬁ'\nr '&ﬁ?ﬂ %
® Type of glass / P BT UPIR
® Plane glass / JHdA PIa
® (Convex lens / 394 A9
® Concave lens / 3aad a9

Correct Answer :-Convex lens / 39 A

29)
Question Stimulus :-

Directions for the following four questions: Study the graph below and answer the
questions. (Consider approximate values for answers) / 9 R 10 IR i & forw fAdw =
3T T UTE BT AT B MR U BT IW <1 SR P e rgEifa gl w AR #¥
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- —=—Gliis golng to school

—&—EBoys going to schao

Mumber of Students{iMillions)
38
Q

How many more boys &girls went to school in year 1988 than 19812 / a9 1981 ﬁgﬁTﬂﬁ'
a¥ 1988 ¥ fFdA oife TP ud Tsfkai faemay mu?

* 15 million / 15 fAferam
* 17 million / 17 fAfera=
* 18 million / 18 fAfera=
* 20 million / 20 fAferam

Correct Answer :-15 million / 15 fafera=

30)
Question Stimulus :-

Kyoto Protocol is an agreement between countries / el Welwid ¢ & a9 & fras fe
HHSIT §

® To reduce nuclear warfare / U¥HIY] Y& PH P & forw

® To reduce green house gas emissions /3= g8 T Ioi FH B P forw

® To decrease excessive mining of ores /arcmﬁ & 3ffd W1 Bl e & %E

® To reduce the formation of acid rain / 3&i qui & FRAfTF FAT FHA S ﬁfE

Correct Answer :-To reduce green house gas emissions /",ﬂ:[ B3y T IoI FH B & ﬁt{
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